H & 0l & AHS B Ml A

SA AL
Zu: C22s o B2
el LBEZ 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
rar-=inl; 27,581,014 53,492,787 A25,911,773
= 2,000,000
[ 1,010,000
£ 20,000
< 3,540,560
= 21,010,454
CeAd 2 2l 5,873,782 14,916,440 A9,042,658
£ 20,000
= 193,280
= 5,660,502
UBEZ 2He 1,637,000 8,004,000 6,367,000
SHEZZ HHIAY 1,457,000 6,002,000 24,545,000
401 Al HIZ S 0HbI 1,457,000 6,002,000 A4,545,000
01 Al&H| 1,455,000 6,000,000 4,545,000
ogd gildl Eits dYEe ERYE
A HAIEH S S2HI 100,000,000 100,000
oY Xl &eils MUEZ AR Y
[ AAIEH S 2]
170,000,002 170,000
SANDt MJI2 SHEER AH=T ZA
1,000,000,000& 1,000,000
oM&H UM~ 2t 2 SHEIZA AA|
23 S g9l 65,000,000 65,000
oUt AWR| BA0IS TRATIHBAL &
ANEAH S ESHI 120,000,000 120,000
03 Al 20HHI 2,000 2,000 0
CE0EZ2 FHAIY 2exd
2,000,000& 2,000
A0HE BHOIHA IC £X 180,000 0 180,000
401 AIEHIX S0 180,000 0 180,000
01 A28l 180,000 0 180,000
oGHOIIHAIC XIAS(EEE2)(2R1E =28
o ol ZZK QIAHR) 180,000,000 180,000
FAEEZ A 200,000 2,200,000 /2,000,000
< 100,000
= 100,000
Helol E579 HHAIS (HEALY) 100,000 500,000 A400,000
= 50,000
= 50,000
401 Al HIZ 2018 100,000 500,000 A400,000
= 50,000
Ea 50,000
01 A28l 100,000 500,000 A400,000
SOEI0IES TS JHHAY
100,000,000 100,000
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< 50,000
s 50,000
COIES A LA (HEALY) 100,000 200,000 100,000
= 50,000
Ea 50,000
401 AIEHIX R0 100,000 200,000 100,000
=S 50,000
s 50,000
01 AlZ28| 100,000 200,000 100,000
okl 57 JHH AL
100,000,000 100,000
< 50,000
T 50,000
=AE25 2e) 3,786,222 4,411,880 A\625,658
£ 20,000
[ 93,280
T 3,672,942
2 |2l 2,786,222 3,578,880 ATR,658
= 20,000
== 5,280
o 2,760,942
201 =3 107,232 108,880 A1,648
[ 5,280
T 101,952
01 At22t2lt] 29,232 30,880 1,648
oE4R MY 170,000 %423 % 105 6,800
oE4el mejm Do
200,000 x32H *43] 2,400
= 2,400
o243 Lzac| PR FA SEH|
000238120 2,880
= 2,880
o=xFMHA AIEZE XIS 3,000,000& 3,000
oXIGtAE MIIAE & AL +=aH(&43
s, A8, &) 2,000,000 34 2 6,000
oZoiti® I 28RS 300,0002 64 1,800
oH=E MEXY U2 =4 S|
8,000& »7 & 70 3,920
oZad AR FA SEH|
8,000 x4 »76 2,432
02 S3=gHl 78,000 78,000 0
oZ2HE, ENEY S Z2 08 RAE=+
750,000 * 122 9,000
oABANE JIIes 18,000
=t Bt ETe S, 100,000& 12 1,200
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-H=2Xo Xtz 100,000& « 12& 1,200
-2E FZYA 500,000 * 12 6,000
-&E St 500,000& * 128 6,000
-2 B2 200,000 * 122 2,400
-LD|E =B d 100,000& ~12& 1,200
oM&XE ==l 3,000,000 *7CH 21,000
oH&dEl RXN2+ 5,000,000 ~6CH 30,000
202 04| 3,440 4,000 A560
01 2LHA b 3,440 4,000 2560
oZRAAL B2 A
20,0003 x4 43 3,440
203 HR=H] 2,550 3,000 A450
03 A=A R =NH] 2,550 3,000 A450
oHEYUR =&l 637,500 x4 7| 2,550
206 M=l 400,000 400,000
01 M=4l 400,000 400,000
o ERA2ACE AMMFL 20,000
-24ote, 228 37 S
5,000,000& 4 20,000
oNEXAE NHAL 320,000
-NEM(AS, S3t28E 8)
80,000,000& 45 320,000
oM&EXY THESAHL FF7H K=
60,000,000 60,000
307 212+01& 20,000 20,000
06 2= 20,000 20,000
o5 - H MEXNISAHA doli2E
20,000,000 20,000
401 AlEHIZ S 0HYI 2,233,000 3,043,000 810,000
01 Al&H| 1,955,000 2,765,000 810,000
oZ B 600,000,000& 600,000
oxl & SHEZZ AT
400,000,000& 400,000
o2z ZEH X WSYH= NAH S
20,000, 000& * 1000 £ 200,000
o ZH EHII| At 780, 000:& *450km 351,000
ocCZOHNEAIEE FHI(EXIE, BIAIY, JtE
e, usgRE §) 200,000,000 200,000
o2t ¥ sHEEZ OIXSEX Bz
60,0002 %3,400m 204,000
03 Al 2 CHHI 278,000 278,000 0
oEZRIALIE SI(2ADI, 82, =£4%
H S) Xtz 20,000,000& *35 60,000
oHMEHAE SI(=24D], 68X 8) g
30,000, 0002 *7CH 210,000
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M DEHH WM
Hel: T2NSSIA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cAUEE = 8,836,000 +5% 442
201 er23| 3,648 3,648
01 At22te|Hl 3,648 3,648
oW EE XA HEEH| 2
10,0002 x96 & *35 2,880
oS TAH 2EH| 8,0002+%64 768
SYMAD|BHEH 5,798,132 8,540,380 N2,742,248
= 2,000,000
S 1,832,560
= 1,965,572
sgolgtxd 4,832,000 4,176,500 655,500
= 2,000,000
< 1,782,560
[Ea 1,049,440
SSIIBHAIE 22| 650,000 1,100,000 450,000
401 Al HIZL S 0HYI 50,000 100,000 /50,000
01 Al&HI 50,000 100,000 50,000
osHMLD|EAIE DISEX 2d=
50,000,000 50,000
403 AXIEHMSAH=0lE 600,000 1,000,000 400,000
02 SISOt =2 A P E A I 600,000 1,000,000 2400,000
SEASEBANIRAL SSIIEAIL
600,000,000& 600,000
SIS ZH(HPEZRNEE-ASX7) (HEAIY) 1,121,000 1,250,000 129,000
[ 964,060
Ea 156,940
401 Al HIZL 201 1,121,000 1,250,000 129,000
S 964,060
= 156,940
01 Al&HI 1,034,000 1,148,000 114,000
ook 28X U8 B CIAY
1,034,000,000& 1,034,000
= 889,240
o 144,760
02 2/l 85,000 100,000 A15,000
o&N AEXF H7E BXFlAE Zel
Bl 85,000,000 85,000
< 73,100
s 11,900
03 A2 THYI 2,000 2,000 0
ouk A8 UFE BN &2
ESN] 2,000,000 2,000
= 1,720
o 280
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SIS EH(HTPEZRNH2-USX7) (HEALL) 375,000 625,000 250,000
= 322,500
= 52,500
401 AlZHIZ S 0HbI 375,000 625,000 A.250,000
= 322,500
[Ea 52,500
01 A28l 344,000 574,250 A230,250
oEE USXF U+= SXEcIAMNY
344,000,000 344,000
== 295,840
[Ea 48,160
02 Zeltl 30,000 48,750 18,7850
oE WSXT (P ANF2IAY 22l
]l 30,000,000& 30,000
= 25,800
Ea 4,200
03 AIESTHYI 1,000 2,000 A1,000
oHE WSXT TE INH2IAY 2L
= 1,000,000 1,000
& 860
Ea 140
AIIBHAEHI(HPEZ X Hel-H 22X 7) (HEALL) 300,000 62,500 237,500
= 258,000
o 42,000
401 A& HIX R0 300,000 62,500 237,500
= 258,000
o 42,000
01 A28l 279,000 62,500 216,500
oS5 HYUXT UTE BNHIAL
279,000,000 279,000
< 239,940
[Ea 39,060
2 Zcltl 20,000 0 20,000
oS50t 42X+ U= XA Zel
] 20,000,000& 20,000
= 17,200
Ea 2,800
03 AIZ 2 0HHI 1,000 0 1,000
oS0t &7 U+E BXNIAMS EF
= 1,000,000 1,000
< 860
T 140
I IBHAEHI (P& Z X Hel-E X 7) (HEALL) 63,000 0 63,000
= 54,000
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[Ea 9,000
401 AIEHIX 20 63,000 0 63,000
=S 54,000
s 9,000
01 AlZ8| 63,000 0 63,000
oS0l ZAXT H7E ANFIAY Il
EN N e 63,000,000 63,000
< 54,000
s 9,000
S IBHEH(HF &N EL-SH KX F) (HEAIY) 63,000 0 63,000
= 54,000
Ea 9,000
401 AIZHIX S0HH 63,000 0 63,000
=S 54,000
s 9,000
01 AlZ28| 63,000 0 63,000
oM SANT H7E AXF2IAY I
EN = e 63,000,000 63,000
< 54,000
= 9,000
BH==OH & 2,000,000 500,000 1,500,000
= 2,000,000
401 AIEHIZ SR 0HYI 2,000,000 500,000 1,500,000
= 2,000,000
01 AlZH| 1,850,000 398,000 1,452,000
oSY ASXIT HhAIHLAI
1,850,000,000& 1,850,000
= 1,850,000
02 Zeltl 148,000 100,000 48,000
o= MEXF i A Zeltl
148,000,002 148,000
= 148,000
03 Al&SCHY] 2,000 2,000 0
oS MEXT HhATHMAY YRS
2,000,000 2,000
= 2,000
G EsIIBH =28 RE) 260,000 0 260,000
= 130,000
o 130,000
401 Al HIZ S 0HbI 260,000 0 260,000
s 130,000
s 130,000
01 AlZ8| 260,000 0 260,000
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odds HWAKXR JASESIE AFEAL
,000,000& 40,000
= 20,000
Ea 20,000
oMAH NS JIAHSSSIIB 2EA
80,000,000 80,000
< 40,000
[Ea 40,000
oSatH AR JASEsIE AEAL
40,000,000& 40,000
= 20,000
Ea 20,000
oot XX JIAHSESsI|E 2FAEY
30,000,000& 30,000
< 15,000
2 15,000
SMNS HRXT JIHES S8 PEAY
30,000,000& 30,000
= 15,000
Ea 15,000
oS2H MSXF JAHSSSIIE 2EA
40,000,000 40,000
[ 20,000
Ea 20,000
LEIHE 966,132 4,363,880 A3,397,748
= 50,000
o 916,132
c|Hl =clAIEdRX2el 108,000 108,000
401 A& HIX R0 100,000 100,000
01 AlZH| 100,000 100,000
oM==Al 2HJ] £ E=HHA
100,000,000& 100,000
402 2I2EX=201H 8,000 8,000
01 QI XHZ AL 2 (KEHITH) 8,000 8,000
oxc|H AIE=2 RAl2el 8,000,000& 8,000
N=XIAlE =Xl 22l 649,312 790,560 A141,248
201 er23 | 12,512 12,960 A48
01 At2teltl 12,512 12,960 N448
osHEN A =S A
140,000 * 7204 2 10,080
osI|BEH EF =8 =S8l
8,000 x4 »76! 2,432
202 04| 4,800 5,600 A800
01 =LHO LI 4,800 5,600 A800
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osgJ|g YR A
20,0002 x4 x602! 4,800
401 Al&2HIZ S H| 632,000 772,000 140,000
01 Al&H 630,000 770,000 140,000
SLENAX B4 HABA
250,000,000 250,000
SPSEYNIRCIFSES = 100,000,000 100,000
oM=Kl HIAHHHE +HSA(ARM, &
M, OlSH, H<H) 160,000,000& 160,000
ox=IIBAIE 22X oIS &9
120,000,000 120,000
03 A& S CHYI 2,000 2,000 0
oL2X=Al B4 2EL3A S =
2,000,000 2,000
s Ekot=Ald =X 2el 138,400 542,400 A404,000
201 er23| 38,400 32,400 6.000
01 At2teltl 8,400 8,400 0
oy EAote = ZAH
120,000 *700H 2 8,400
02 S3=gHl 30,000 24,000 6,000
oxclAld E38= 2,500,000~ 128 30,000
401 A2 HIRL 201 100,000 510,000 410,000
01 Al&H| 100,000 510,000 A410,000
oF s S clAEE B
5,000,000 *20H 2= 100,000
SHUHHEAIZ R X2t 7,920 1,007,920 1,000,000
201 et23| 7,920 7,920 0
02 S3=4gl 7,920 7,920 0
oS RE A=J| A2
7,920,000 7,920
SIS EHI(AlZ 2= AIE-A8 X7 ) (M EAY) 62,500 0 62,500
< 50,000
[Ea 12,500
401 AlEHIZL SO 62,500 0 62,500
& 50,000
= 12,500
01 Al&H| 62,500 0 62,500
o3 MM AlZ2tel =ClAld 2=
62,500,000& 62,500
= 50,000
[Ea 12,500
SEINEY = 5,922,480 10,883,380 4,960,900
= 1,305,000
= 4,617,480
gaolgtrd 5,922,480 10,883,380 24,960,900
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< 1,305,000
s 4,617,480
FOIEAAY 1,692,480 2,185,000 A492,520
201 er23 | 12,480 0 12,480
01 At2teltl 12,480 0 12,480
oFOIMAAY EANE 2 S|
8,0002 132 *120 12,480
401 Al HIZ S OHbI 1,680,000 2,185,000 505,000
01 AlZ2H| 1,580,000 2,120,000 540,000
oltsetd Ol=EA 24=
80,000,000 80,000
oRHES PE2| FEOIS 42 LXBA
100,000,000 100,000
o¥4dE REcl RE0IS MUYCZ HES
At 50,000,000 50,000
oRHS 222 A2 HEBA
70,000,000 70,000
odds IHcl LSELS =2 Y3
At 50,000,000 50,000
oA HdHC| Ma0ts SZ2EESA
20,000,000 20,000
o 0tz 2002 === HHISAt
100,000,000 100,000
ogt Zefc| 2E0ts 2L SA
20,000,000 20,000
ozatH AEc| A0S =2 FHISA
30,000,000 30,000
oM FEel A0S =2 EXISAt
30,000,000 30,000
oA WAl OtAHllS dY2 ZHISA
30,000,000& 30,000
oA Eate] JAtNl 212 B2 EXE
At 25,000,000 25,000
ofAE ADjel MEOIS =2 EXISA
20,000,000 20,000
o2EH el 240ls sZEELISA
25,000,000 25,000
oEEW F@he| A0S ot MEESA
45,000,000 45,000
oN&® =l SHOE S2EESA
30,000,000 30,000
oMaH 222 220IS MY SHEH
SAt 250,000,000 250,000
osdH 482 c8lls s RISAM
30,000,000 30,000
oS2H 22cl WE0S 2 EXI3SAt
15,000,000 15,000
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Cigl: mEFZ)|BEA
SA - BB O(SI) - KISA - B ofl e ie
oUe ZEe AS0E o2 RIS A
20,000,000 20,000
odd H42| gAIitE ot MMEES A
20,000,000& 20,000
odd™ Ot MBS sZELEIAL
20,000,000 20,000
ogd 0tgel MENES s2 Ex3At
25,000,000 25,000
odt WARZ| HADIE ot THEES AL
20,000,000 20,000
ogd 232 B30t =2 ZESAM
30,000,000 30,000
ogf 2ael =202 =2 ZESA
20,000,000 20,000
odd Otde| HE0I2 =2 EXISAt
30,000,000& 30,000
o=t 28&al JI40E ot MEEHIA
45,000,000& 45,000
ozt =52l §s0S 22 MEEHIA
20,000,000 20,000
oZstH SHcl SAOIS =2 EXIZA
25,000,000& 25,000
oSSt A8 HELNS =2 AXIZA
30,000,000 30,000
o=stH itel =X0E =2 EXISA
20,000,000 20,000
oSt Hatg| A0S =2 EUIZA
25,000,000& 25,000
optME &l HESOE oHZ MEES
At 20,000,000 20,000
opfME 2| 0|20 S22 MEESA
25,000,000 25,000
o NH fXicl otR0IS 2 ZHBAM
25,000,000& 25,000
odME =2l &30 s2 ZESA
25,000,000 25,000
oMM SEcl EHOIS =2 EXIZA
20,000,000 20,000
o MEH 2| MESE == EXSA
20,000,000& 20,000
oMM A0t =AH0IS =2 SEIA
30,000,000 30,000
SHAE RER SE0IS H42 STBA
20,000,000 20,000
o NH ti=cl XS =2 dEXIZA
20,000,000& 20,000
oMHH 24| 2L0IS =2 AXIZA
30,000,000 30,000
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o AH === &XISAt
25,000,000& 25,000
o HH === HUISA
20,000,000 20,000
o AN Ex2 ZXSA
25,000,000 25,000
o AH === &XISAt
30,000,000 30,000
o HH ord THEE S A
30,000,000& 30,000
o AH MYz WEES
At 30,000,000 30,000
o AH === &XISAt
20,000,000& 20,000
SEE S o2 HENE
At 30,000,000 30,000
e 2 morp| 24D}
S otz 30,000,000 30,000
oEEH S o2 AF3A
25,000,000 25,000
oEEH === &XISAH
30,000,000 30,000
oEH S B2 &X3
At 25,000,000 25,000
oEEH g == EXI3A
50,000,000& 50,000
o N&H === HHIZA
30,000,000 30,000
o M&H ot THEEH S A
20,000,000 20,000
o M&H otz THEEH B AH
40,000,000& 40,000
oAy H === &XISAH
30,000,000 30,000
o M&H =2 EXISAt
30,000,000 30,000
oS¢ === &XISA
30,000,000 30,000
o=gH HE EXISA
35,000,000 35,000
os5gH ti==2 &EXISAt
30,000,000 30,000
o223 d42 B20E & 230t i
= ZHISA 35,000,000 35,000
o=S2d 2Ycl =0l MEESA
20,000,000 20,000
=20/ 2R FSO0IE =2 EXSAt
30,000,000 30,000
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o50|H 2tR2e| 2H0E =2 EHISA
20,000,000 20,000
o2010 =2l 20 o2 WEEBA
40,000,000& 40,000
oS0|H QEe| SA0IS ot SHEEHIA}
20,000,000& 20,000
o50|H g4l 40l s2EE3A
20,000,000 20,000
oF0|H 42| |E0r2 o MEESA
40,000,000& 40,000
o=0|H A2 AB0I2 =g EXSA
30,000,000 30,000
o=0otH el CHEOHE S-S ZHISA
25,000,000 25,000
oSotH HE2| MEQES o MEESA
35,000,000 35,000
oS5t A=2e| SFHOIS o2 MEESA
35,000,000 35,000
o=0tH A2 2302 22 MEES A
40,000,000 40,000
oS0otH 252 EF0I2 =2 EXISAl
25,000,000& 25,000
218 NSGINE AL 925,000 2,072,900 A1,147,900
401 Al HIZL S 0HY| 925,000 2,072,900 A1,147,900
01 AlEHI 925,000 2,072,900 A1,147,900
o¥HZ &2 RX0IS =2 AXISAt
20,000,000& 20,000
oHA4Z &2l RXOIS =2 FEHISA
19,500,000& 19,500
oA E HA2| HHLIE =g EXISAt
35,000,000 35,000
oHHES SE SE0IS 42 SXBA
17,000,000 17,000
ocHAZ Hit2| SA0IE o2 MEES A
20,000,000& 20,000
oHAE RE2 F&S0E =2 EXI3
At 20,000,000 20,000
oHAE &2 HEOIE == FUISA
20,000,000& 20,000
cHAZ &2 2012 =2 ZUISA
10,000,000& 10,000
o&ANE o2 AMOIE =298 &2 &l
SAb 10,000,000& 10,000
o¥HZ &2 2X0IS =2 MEX2
At 20,000,000& 20,000
ol MEel =0l =2 ZEHIA
10,000,000& 10,000
oXAH AMBL| =E0t2 =2 BHISAL
10,000,000& 10,000
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S AT
M sEXNGREY
ool SE™FEI|MEY
S A - BRI - NRA - BES of e A
olRH el 2HE0S S+ FHIS
Ab 20,000,000& 20,000
olAH stgie| BFH0IE =2 SEEIAM
5,000,000& 5,000
olAH MEe| E012 =2 FHISA
5,000,000 5,000
oL AE2| AE0IS 22 FHEYIZ
At 5,000,000& 5,000
olAH S| FEllE s JUISA
15,000,000 15,000
odd 2l =202 s2 ZXSA
24,000,000 24,000
odd 2&dl ZElE s2 ZISA
20,000,000& 20,000
oUp BEE ANOIS 012 HEEBA
20,000,000 20,000
odd Hde| G402 =2 HUISA
8,000,000 8,000
ogt =8| =d0ts WEFH JUISA
15,000,000 15,000
ol Hatg| ZEOIZ =2 HUISA
20,000,000 20,000
oZ3H ALl FU0IE 52 ZHSAM
15,000,000 15,000
optNH 2| US0IS =2 ZHISA
10,000,000 10,000
o NE 2Xiel SROIS =2 FHISA
25,000,000 25,000
o MH diAlel HSOIS 2t2 MHEESA
30,000,000 30,000
ottNE AECl AZ0IS =2 FHISA
30,000,000& 30,000
otfNH A0te| 0tE0IS =2 FHISA
20,000,000 20,000
oM FEel BA0IS =2 ZHISA
20,000,000 20,000
oA sdcl sd0l= #H ZHISA
48,000,000& 48,000
otHH del =S0E 2 ZHSA
15,000,000& 15,000
oY del =S0t= 22 EHIA
20,000,000 20,000
o HH Eite| MEllE E+2 JHISA
20,000,000& 20,000
oA WiHEl OtAIllE M2 SESA
27,000,000 27,000
c2EH S5l F=S0S =2 £33
At 10,000,000 10,000
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2A: A&
B mET|olg
ool SEFFI|BIEY (ol a2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
oHEM ZScl F2S0s =28 ZEBA
8,000,000& 8,000
oEEMH EZ| A20I2 iz HUISA
15,000,000& 15,000
oHEM FHite| EAOIE 2 X3
At 12,000,000 12,000
oEHENH =8 f2|AEE FHIAY
8,000,000& 8,000
o=SgH MEL| §R0Is 22 HHl3
At 13,000,000& 13,000
o=22H HE2| SHOE g EXSA
18,000,000 18,000
oS2UMH Q2| QA0S g EXISA
10,000,000& 10,000
oSUM FUD| BANS A2 SXITA
10,000,000& 10,000
o52MH el il sl&=H ti+==2
XIS A 10,000,000 10,000
o5gM el Eci0t=S =2 JHISA
20,000,000 20,000
oM AMEZ| ME0I2 g EXISA
20,000,000& 20,000
o=0|H AE2 2S0I2 =g EXISA
5,000,000& 5,000
oS50|H e B2AM0E =2 ZEIA
15,000,000 15,000
o=F0|H 22| R0 =g EXISA
11,000,000& 11,000
o=0|H AHEI ZAOIE ot EZEBAL
22,500,000 22,500
oS0tH 252 8502 o2 MEEHSA
9,000,000& 9,000
o=5tH 252 2H0IE &Y HUIA
o) 8,000,000& 8,000
o=5tH 252 S22 23 JUISA
19,000,000 19,000
oS0t Algel HE0I2 =2 EXSA
13,000,000& 13,000
o=5tH 252 8502 =g JUISA
20,000,000& 20,000
KEMLAIS (=X ) 1,305,000 1,670,000 A365,000
= 1,305,000
401 A& B2 20HY| 1,305,000 1,670,000 365,000
T 1,305,000
01 Al&HI 1,305,000 1,670,000 365,000
oHAE Hit2| SA0IE o2 MEES A
40,000,000 40,000
& 40,000




A AL
M =E oL
ool SEFFI|BEY
2 ~ SIE]
SA -3 - SA(3) - MISAY - B85 Off &4 OEH(E%
oHAES Dl CR0IS 22 MEFIAF
35,000, 0002 35,000
= 35,000
oxRE AK
=x) 300,000, 0002 300,000
= 300,000
oxIRe o2 HYIBA
90,000, 0002 90,000
= 90,000
oupl ciue A
30,000, 0002 30,000
= 30,000
oup D2l AIFOIS A
70,000,00024 70,000
= 70,000
oS58 83 B2 SXIZA
25,000,00024 25,000
= 25,000
oS3e 83 A A
30,000, 0002 30,000
= 30,000
o=ate B A
30,000, 0002 30,000
= 30,000
oS5te WAL £12
Ab 20,000, 0002 20,000
= 20,000
oAt M e 2EZBA
30,000, 0002 30,000
= 30,000
oAt M e B2 FHIZA
35,000, 0002 35,000
= 35,000
oaie DIEI0S o1 HEITAF
50,000, 0002 50,000
= 50,000
ouHe = z0t2 ZYTA
50,000, 0002 50,000
= 50,000
oZEe Al
35,000, 0002 35,000
= 35,000
o Aol IS
2 s 50,000, 0002 50,000
= 50,000
o=ge B2 SXIZA
50,000, 0002 50,000
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A A4t
T sEX|e
&l sEFEFIIEEY EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 50,000
o=S2UMH HA2| SEHOE ot S EIS AL
35,000,000 35,000
= 35,000
o5gH el HZ0E AFSLEXZA
35,000,000& 35,000
= 35,000
o=0|H A2l ZAHOIE B2 EHIAS
35,000,000 35,000
= 35,000
o503 A2 Fotits o2 MEEHISA
54,000,000& 54,000
= 54,000
o=0/3 Hs2l NSNS SZEIBA
42,000,000 42,000
= 42,000
o503 AtAHEl A0S sZ2EESA
19,000,000 19,000
& 19,000
o50otH Hetel ZAOE S22 8X13
At 40,000,000 40,000
& 40,000
o250l MMEl SHOIS AR SXITM
25,000,000 25,000
& 25,000
o=5le 22l SWOIS W42 SXTA
50,000,000 50,000
& 50,000
FOEAAS 24,960 134,200 A109,240
SEHQ IRTHL2e| 24,960 134,200 A109,240
e\ P gl 24,960 134,200 A109,240
201 L2 | 20,640 29,880 A9,240
01 At 2telt] 20,640 29,880 A9,240
oFN U HE ZYyL4E
500,000& * 153 7,500
osJleg 70,0003 *6024 4,200
oA EETHKX S =2
500,000 152 X 7,500
o F/MLH ZElPF S|
8,000 x2H 90 1,440
202 04d| 4,320 4,320
01 =WOdbI 4,320 4,320
oI RTHAH 201 I AMEHZAL
20,0002 108 4,320
MEN SR 22| 2,583,629 7,365,103 AN4,781,474
SE2Z MEf22 1,583,629 2,635,103 A1,051,474
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S AL
Ha: MEN=R 2
ol EEZ dej2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2EZ JHIIAY 1,513,629 2,565,103 1,061,474
101 @124H| 387,541 283,843 103,698
M ORNZZE2NSE S 387,541 283,843 103,698
oEEZ MiH2tel QIAH|
109,000 x5 *320& 174,400
oEEY A2 AUNEER
174,400,000 *12% 20,928
oEEY JdEf JILHMIZE2 N HY=F S
500,000 5 2,500
oxetE MM H MEHY 22y
78,8802 x 102 %150 118,320
oxslE AT L MEXY ANLEE
118,320,000 *12% 14,199
ootdE |FXlzel HHI(EH, +=Z=HH S)
161,850 x5 x10 +23] 16,185
ootEY |XlZel AH(EH, =E=MH S)
AHESE= 16, 185,000 *12% 1,943
oE0|IZ™C HIOtESE |2 12|
109,000 x1H+320& 34,880
o0|ZYUC HOlZY KX PEE
34,830,000 *12% 4,186
201 2et=ay 148,508 65,460 83,048
01 At2teld 13,748 16,100 N2,352

oBtEBI2| OHHRIE
50, 0002120471 10,200
CHEY ME2 R Y= S
500, 00021%1% 500
oHEY MY Y2 =7 S|
8,002 3% 127! 3,048
2 222 134,760 49,360 85,400
ostFA ®II23
50,0002 * 100K A 122 18,000
oHEY ORIZY I3
1,200,002 122 14,400
oZE)| MII22
20,0002 ¥4 74 A 122 90
ostFA RXI 1,500,000 * 122 18,000
ST I SRl
250,002 122 3,000
oSUTAF MR
5,600,000 1284 67,200
SHEY NI4T 23
1,100,0002!* 122 13,200
202 01t 4,080 4,800 AT
01 2UH0HH| 4,080 4,800 AT
oHEY MM A2 =7
20,0002 %3% <682 4,080
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EeHg%JE*EI
2EZ def2rel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 138,500 146,000 AT7,500
01 MHZH| 138,500 146,000 7,500
ox3FE S 7Y 100, 0002 x75+100kg 70,000
o2SEHl S 30,0002 %1,700%L 51,000
oARHEHIZ 1,750,000 10 17,500
401 AIEHIZ SR 0HYI 835,000 2,065,000 1,230,000
01 Al&H| 755,000 1,955,000 A1,200,000
oEY =Y ot 2+ & FHl
20,000,000 54 2~ 100,000
oEEL UL 2B=3At
300, 0002 *350m 105,000
oAN4EE | Zel(LlAEE8 8)
50,000,000 50,000
ocAldE |X 2el(=g, &I 8)
100,000,000 100,000
o¥EIH £& 24 100,000,000 100,000
cEEAUYH PUZ R 2(QLAH F)
70,000,000 70,000
cEEX Y Fa E9
30,000,000& 30,000
cEllEut & HBHA| A2 OF2t Bt
T8 4Xl SAt 200,000,000& 200,000
03 AIESTHYI 80,000 110,000 230,000
oxels Al =40l HE HHIEX
500,000 «105*16A1 2t 80,000
ENote SIS (282, HH) 70,000 70,000
401 Al HIZL S 0HYI 70,000 70,000
01 Al&HI 70,000 70,000
cHEA A= BBIYXTA 2 2LIHE
40,000,000 40,000
o MEfOIE SRAAMY A= 2tel]
30,000,000 30,000
HEiot S3A 1,000,000 4,730,000 A3,730,000
2EZ Xotd HHIAME 1,000,000 4,730,000 A3,730,000
401 AIEHIZ SR HYI 1,000,000 4,730,000 A3,730,000
01 Al&HI 1,000,000 4,484,000 A3,484,000
o8 ANdotd FHIAY
1,000,000,000& 1,000,000
I8z 2 Jg 2E A 2 547,712 6,531,756 A\b,984,044
S 8 23X x4 547,712 6,531,756 A\5,984,044
45 8z X4 547,712 6,531,756 A5,984,044
101 21AH| 123,912 126,756 A2,844
04 JIZtN2 2N S 2+ 123,912 126,756 A2,844
odds A 2|
109,000 x2E #2102 45,780
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SA: AT
M NAS DR O|Y BE Y B2
el ¥ds 9 23X x4 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
oFHES el At
109, 0003 x22+320 69,760
oRHE B2 AYLEE
69,760,000 *12% 8,372
201 2= 43,800 40,000 3,800
01 At22t2l] 6.800 8,000 21,200
odds +HI G2 & SHIE S H
= 6,800,000 6,800
2 35234l 37,000 32,000 5,000
odgs A AT 2
4,000,000 *57H 2= 20,000
oRHE MY 2223 S
17,000,002 17,000
206 TH=H 25,000 50,000 25,000
01 =l 25,000 50,000 A25,000
oTHE MU £2 U F34E ENPY
100,000& x55+50kg 25,000
401 AIEHIX SO 365,000 6,315,000 /5,960,000
01 AlZH| 365,000 6,315,000 25,960,000
o¥4SE =52 FH(HALL, 838Ul S
) 55,000,0002 55,000
oTAS SHIL SNB2I(QYAH )
50,000,000 50,000
oHHS 4PIY SANPA(EYUR, 03 S
) 50,0002 *2,800m 140,000
SRHS ¥ A2 U M| S
50,000, 0002 50,000
CANHE QHA(BULR, HYH S)
20,000,000 20,000
o&dds #Fds HolE X
10,000,000& * 13l 10,000
ocd4S o HAESY
30,000,000 30,000
SENS IS 6,525,360 4,857,100 1,668,260
= 1,010,000
o 5,515,360
SEFoN 1,792,360 685,100 1,107,260
sEdged gy 17,360 13,100 4,260
201 fer23y| 13,260 8,300 4,960
01 AtR2t2|HI 7,260 8,300 1,040
oSENLYR =AU HE ARESS 78
25,0002 * 10562 1,500
osEMNEHR =& S|
8,000 x5E x 144 5,760
2 35234l 6,000 0 6,000
ode|HI0IE FXl2el 500,000 * 12 6,000
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SA AL
B SEX|GRENY
el SEFFONY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 4,100 4,800 AT700
01 2LHoIH 4,100 4,800 A700
osENYee £7
20,0003 x5 41 4,100
I EMEoI TS FH| (M EAI) 1,500,000 500,000 1,000,000
401 Al HIZ S OHbI 1,500,000 500,000 1,000,000
01 AlZ2H| 1,495,000 497,000 998,000
oY SEUESITHIAY
1,495,000,000& 1,495,000
03 A2 20HHI 5,000 3,000 2,000
oHH sEYEAI UMY =T
5,000,000& 5,000
OtSEAAE 23 105,000 82,000 23,000
401 AIEHIX R0 5,000 12,000 /7,000
01 A28l 5,000 12,000 A7,000
<0i= aiESEIXIJl 3y
40,0003 * 1250 A 5,000
402 2I2FX=201H 100,000 70,000 30,000
01 IR SASE X (XHMITHR) 100,000 70,000 30,000
cltsslar ¥ 2F A (FHI)A
100,000,000 100,000
sSELHEHIAIY 50,000 70,000 220,000
402 2I2F X201 & 50,000 70,000 /20,000
01 QI X2 AL E A (KEHITH) 50,000 70,000 220,000
oI EEHIA 2,000,000 *25J 2 50,000
8z SsEEY =8 120,000 0 120,000
307 @120l & 120,000 120,000
05 git?(& = 120,000 120,000
oSEEY SUXNAXZN AEAIHHI
120,000,000 120,000
J=dENE 1,843,000 2,221,000 A378,000
s 1,010,000
= 833,000
I =MHENERE-AAH 1,843,000 1,229,000 614,000
= 1,010,000
Ea 833,000
403 MR HHMSAHE01H 1,843,000 1,229,000 614,000
[ 1,010,000
o 833,000
02 SVI2S0 U H=E P EAIEI 1,843,000 1,229,000 614,000
oA JZUENE SEAMY
1,843,000,000& 1,843,000
= 1,010,000
T 833,000
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SA AL
B =SEX|ARENY
el Ol 2301 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot &=J1 2,750,000 1,751,000 999,000
OFSRtED1-AIF (M EALY) 2,750,000 100,000 2,650,000
401 Al HIZ 2018 2,750,000 100,000 2,650,000
01 Al&H| 2,741,000 100,000 2,641,000
o0 (119HA) OIS2HEIIAMY
2,741,000,000& 2,741,000
03 AIESTHYI 9,000 0 9,000
OIS (11HA) DISSIIMNY =&
9,000,000& 9,000
SENL ALY 2t 140,000 200,000 260,000
SEHEMY 29 140,000 200,000 260,000
401 Al HIZL 01| 140,000 200,000 260,000
01 Al&H| 140,000 200,000 60,000
cAEE7Al2c 140,000,000 140,000
HH2AZH(AL) 292,033 251,727 40,306
< 209,720
[Ea 82,313
el E3H 266,225 223,49 42,726
& 209,720
= 56,505
el 24| 56,505 59,034 A2,529
101 @124H| 56,505 59,034 A2,529
01 24 56,505 59,034 A2,529
SNEEEENES
11,3193+ 162 +26A| 2+ 123 56,506
23 o1Ad| 209,720 164,465 45,255
== 209,720
101 @124H| 145,157 145,157 0
= 145,157
03 SR (RIH )22 U2+ 145,157 145,157 0
=JllEag 1,877,000 x3E~12& 67,572
= 67,572
oMRrY 160,000& x32* 123 5,760
== 5,760
odIrd 910,500& «3 *23] 5,463
=S 5,463
odIsd = 60,0002 x3& 122 2,160
= 2,160
o HE S| 1,126,200 «3& +2E 6,758
= 6,758
=] 140,000& x32* 123 5,040
< 5,040
oS 2L 60,0003 »3& * 122 2,160
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A A4t
T BHSSAY|(ALD)
el QIEE2E ESR=ED
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
= 2,160
SIIHExRSE 110,000& 3% » 12 3,960
= 3,960
oItEg 60,0002 3+ 12& 2,160
= 2,160
oD|EtrY (XA, S|, HIIEA )
600,000&x3H x 122 21,600
= 21,600
oMMz 1,877,000&*3F 42 22,524
& 22,524
N HASREZS 64,563 19,308 45,255
& 64,563
M SRA(RINHS) 22X BE28E2 S 64,563 19,308 45,255
ox30idzg EEx 145,157,000 *4 . 5% 6,533
= 6,533
o=x0IAUEEZ 145,157 ,0002 *4. 0% 5,807
= 5,807
oIE - M BE= 145,157 ,0002 *4.. 8% 6,968
& 6,968
ISR 45,255,000& 45,255
& 45,255
234 25,808 28,228 22,420
JlE2Zl 25,808 28,228 22,420
201 LBr23| 20,948 23,368 AN2,420
01 ArR222lt| 20,948 23,368 22,420
oSAEX 7 25,0003 x285 A+43| 2,800
oHMA=AD| 225 7 7,600
— 1,000,000 & *43| 4,000
-EU 180, 0003 *4CH*53] 3,600
cdlOIMERH EH 2
250,000& 4 CH+33] 3,000
<JIE AIRES 12,0003 x39E*43] 1,872
o&d=J| Az 63,0003 128 756
SHBHA=EE 4,920
=2 18,0003 102+ 122 2,160
NN 10,0003 *23%+ 122 2,760
203 R =& 4,860 4,860
M FA2EHRFAHI 4,860 4,860
=302 =1t
(400,000&+(5,000&*1 ) ) *12& 4,860




